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Cluster 1: 39 points (26%)
1

2
3

4
5

6

Sep
al.

Le
ng

th
   

Sep
al.

W
idt

h 
  

Pet
al.

Le
ng

th
   

Pet
al.

W
idt

h 
  

●

●

●

●

Cluster 2: 50 points (33%)
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Cluster 3: 61 points (41%)



1
2

3
4

5
6

Sepal.Length

1
2

3
4

5
6

Sepal.Width
1

2
3

4
5

6

Petal.Length
1

2
3

4
5

6
Petal.Width



1
2

3
4

5
6

7
Sepal.Length

1
2

3
4

5
6

7

Sepal.Width
1

2
3

4
5

6
7

Petal.Length
1

2
3

4
5

6
7

Petal.Width



Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

●

●

●

●

Cluster 1: 39 (26%)

0 2 4 6

●

●

●

●

Cluster 2: 50 (33%)

Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

0 2 4 6

●

●

●

●

Cluster 3: 61 (41%)



Pt.W

Pt.L

Sp.W

Sp.L

●

●

●

●

Cluster 1: 39 (26%)

0 2 4 6

●

●

●

●

Cluster 2: 50 (33%)

Pt.W

Pt.L

Sp.W

Sp.L

0 2 4 6

●

●

●

●

Cluster 3: 61 (41%)



Pt.W

Pt.L

Sp.W

Sp.L

●

●

●

●

Cluster 1: 39 (26%)

0 2 4 6

●

●

●

●

Cluster 2: 50 (33%)

Pt.W

Pt.L

Sp.W

Sp.L

0 2 4 6

●

●

●

●

Cluster 3: 61 (41%)



PW

PL

SW

SL

●

●

●

●

Cluster 1: 39 (26%)

0 2 4 6

●

●

●

●

Cluster 2: 50 (33%)

PW

PL

SW

SL

0 2 4 6

●

●

●

●

Cluster 3: 61 (41%)



Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

●

●

●

●

Cluster 1: 39 (26%)

0 2 4 6

●

●

●

●

Cluster 2: 50 (33%)

Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

0 2 4 6

●

●

●

●

Cluster 3: 61 (41%)



Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

●

●

●

●

Cluster 1: 39 (26%)

0 2 4 6

●

●

●

●

Cluster 2: 50 (33%)

Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

0 2 4 6

●

●

●

●

Cluster 3: 61 (41%)



Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

●

●

●

●

Cluster 1: 39 (26%)

0 2 4 6

●

●

●

●

Cluster 2: 50 (33%)

Petal.Width

Petal.Length

Sepal.Width

Sepal.Length

0 2 4 6

●

●

●

●

Cluster 3: 61 (41%)

Population center: ● Cluster centers : relevant difference
irrelevant difference


